ol

m?x—1>m(x-1)

@ 1 3B 2

3 0



2. (atb)x+(2a—3b) <09 37} x < —%og W), BEA] (q—3b)x+ (b—

2a) > 05 Zol=t.

B
=



2-x<3x+10

?

La+bo 2

S}
=

b =t1l

® 3 3 5 @ 8 B 11

@D 2



~
IT
= 2
V (ap)
— VI
+ m
L+
RaTgpe
[N} [aN]
——

9

8
1,
3 8

-3 0
0



BEA4x-1<3x+1<2x+5 EWNESH=x 9 3t =
Fatolet,

B
=¥

b=

mlm



Slef) k27 et

mj
_

7x—10>2x+ 10
5x+3<2(x-3)

Al
al

ol
BN

=




X+a
4

<1987t -9<x<bd W, a+b 9 3



3151
HT O

—a<x<a

W91

—— %

Do<a<?2

@ 0<a<3

12—-x<2(x+1)+1<4x-1 _
ey o a7t gl

@ 0<ax<?2

B 2<a<3

W, %% a | %ol

® 0<a<3



9. Ado]E= 100 L2t 500 YAE] FH 20 5000 Y-S 7FA] AL Qo
100 ¥#e] T3 o] 74 500 Y] 539 742 2 iRt W
3 HE = HS o], 500 9#te] 549 A4S F5hoi et

YR 4l



BE5A |x? —4x-6/ <62 =

D -2<x<6
® x<2EE=x>6

® x<0EEx>4

ot

@ 0<x<4



11.

D -1<k<0
®0<x<2

® k<0,EE=k>2

% kgkel WSl



12.

a<0<BO|LOJAREA ax?+bx+c<0dMWNta<x<f L€ H,

OS2 cx? + bx +a < 0 9] =2

1 1 1
O —<x<= @ -<x<-=
a B B a

1 1 1 1

B x<-Ex=x>-= @ x<-FE=x>=

a B a



)
®

Nl

<a

<a

<2

<5

w| ot

IA

IN



14.

BN gx?2 - 2ax+1<0°] &3

ke stolat,

B
ct



X2 x+19 2

7} ok
]—‘—XHO]—EEOE‘/:EZF

@ -2<k<3

B 1<k<T

e v el

® -T<k<1



2 +ax+b<0
x-2|>1

o] 57}

132, lal + |b| = 55 W=5t= + 4

@ 1

2~
e

a,b®| % a+ b2l

DO | Qo



17. n, n+5 n+8 ol EZAZAF Y Al M9 Aol7t H AA4 n 9
NaE?

@ 4 @ 6 ®7

@ 9 23] gt}



18.

xof

Zes ot A a

Fajolat,

Qo=

T3t o] A 42 — x4+ 9 = 00] x < 194 = Aol A
o] HolE 15} ¢ < ko|t}.

o] m, k]

A1 O
21 =
o
=2

13



19. oAHAA x2 —mx+4 =0 9] T 2 Ato]o] 1 o] Y= = AL

m 9] ke W9

@ m<-5 @ m> -2 ® —2<m<?2

@ m>2 ® m>5



20. OJAPYAA 2 4ax-2=09 F AT qa, ol st —2<a <0, 1<
B <3 0] AHOIEE sh= A4 a9 3] He=?

1 1 7
®—§3<a<—1 @—§0<a<0 ®—§<a<1

2
@—g<a<2 @—§<a<3



